[Program Parameters]

System  Name=

Data Folder=C:\OCC\MICAS-X Data

Top Buttons=<8>

Top Buttons 0.Cluster.Visible=FALSE

Top Buttons 0.Cluster.False Text=

Top Buttons 0.Cluster.True Text=

Top Buttons 0.Cluster.F-T Command=

Top Buttons 0.Cluster.T-F Command=

Top Buttons 0.Cluster.F-T String=

Top Buttons 0.Cluster.T-F String=

Top Buttons 0.Cluster.F-T Value=0

Top Buttons 0.Cluster.T-F Value=0

Top Buttons 0.Cluster.Auto-Reset=FALSE

Top Buttons 0.Cluster.F-T Source Ch=

Top Buttons 0.Cluster.T-F Source Ch=

Top Buttons 0.Cluster.Option=none

Top Buttons 0.Cluster.Enumerated List=<0>

Top Buttons 0.Cluster.F Color=11776947

Top Buttons 0.Cluster.T Color=11776947

Top Buttons 0.Cluster.Blink Option=No Blinking

Top Buttons 1.Cluster.Visible=FALSE

Top Buttons 1.Cluster.False Text=

Top Buttons 1.Cluster.True Text=

Top Buttons 1.Cluster.F-T Command=

Top Buttons 1.Cluster.T-F Command=

Top Buttons 1.Cluster.F-T String=Ramp Value (V)

Top Buttons 1.Cluster.T-F String=

Top Buttons 1.Cluster.F-T Value=0

Top Buttons 1.Cluster.T-F Value=0

Top Buttons 1.Cluster.Auto-Reset=FALSE

Top Buttons 1.Cluster.F-T Source Ch=

Top Buttons 1.Cluster.T-F Source Ch=

Top Buttons 1.Cluster.Option=none

Top Buttons 1.Cluster.Enumerated List=<0>

Top Buttons 1.Cluster.F Color=11776947

Top Buttons 1.Cluster.T Color=11776947

Top Buttons 1.Cluster.Blink Option=No Blinking

Top Buttons 2.Cluster.Visible=FALSE

Top Buttons 2.Cluster.False Text=

Top Buttons 2.Cluster.True Text=

Top Buttons 2.Cluster.F-T Command=

Top Buttons 2.Cluster.T-F Command=

Top Buttons 2.Cluster.F-T String=

Top Buttons 2.Cluster.T-F String=

Top Buttons 2.Cluster.F-T Value=0

Top Buttons 2.Cluster.T-F Value=0

Top Buttons 2.Cluster.Auto-Reset=FALSE

Top Buttons 2.Cluster.F-T Source Ch=

Top Buttons 2.Cluster.T-F Source Ch=

Top Buttons 2.Cluster.Option=none

Top Buttons 2.Cluster.Enumerated List=<0>

Top Buttons 2.Cluster.F Color=11776947

Top Buttons 2.Cluster.T Color=11776947

Top Buttons 2.Cluster.Blink Option=No Blinking

Top Buttons 3.Cluster.Visible=FALSE

Top Buttons 3.Cluster.False Text=

Top Buttons 3.Cluster.True Text=

Top Buttons 3.Cluster.F-T Command=

Top Buttons 3.Cluster.T-F Command=

Top Buttons 3.Cluster.F-T String=Response (mA)

Top Buttons 3.Cluster.T-F String=

Top Buttons 3.Cluster.F-T Value=0

Top Buttons 3.Cluster.T-F Value=0

Top Buttons 3.Cluster.Auto-Reset=FALSE

Top Buttons 3.Cluster.F-T Source Ch=

Top Buttons 3.Cluster.T-F Source Ch=

Top Buttons 3.Cluster.Option=none

Top Buttons 3.Cluster.Enumerated List=<0>

Top Buttons 3.Cluster.F Color=11776947

Top Buttons 3.Cluster.T Color=11776947

Top Buttons 3.Cluster.Blink Option=No Blinking

Top Buttons 4.Cluster.Visible=FALSE

Top Buttons 4.Cluster.False Text=

Top Buttons 4.Cluster.True Text=

Top Buttons 4.Cluster.F-T Command=

Top Buttons 4.Cluster.T-F Command=

Top Buttons 4.Cluster.F-T String=

Top Buttons 4.Cluster.T-F String=

Top Buttons 4.Cluster.F-T Value=0

Top Buttons 4.Cluster.T-F Value=0

Top Buttons 4.Cluster.Auto-Reset=FALSE

Top Buttons 4.Cluster.F-T Source Ch=

Top Buttons 4.Cluster.T-F Source Ch=

Top Buttons 4.Cluster.Option=none

Top Buttons 4.Cluster.Enumerated List=<0>

Top Buttons 4.Cluster.F Color=11776947

Top Buttons 4.Cluster.T Color=11776947

Top Buttons 4.Cluster.Blink Option=No Blinking

Top Buttons 5.Cluster.Visible=FALSE

Top Buttons 5.Cluster.False Text=

Top Buttons 5.Cluster.True Text=

Top Buttons 5.Cluster.F-T Command=

Top Buttons 5.Cluster.T-F Command=

Top Buttons 5.Cluster.F-T String=

Top Buttons 5.Cluster.T-F String=

Top Buttons 5.Cluster.F-T Value=0

Top Buttons 5.Cluster.T-F Value=0

Top Buttons 5.Cluster.Auto-Reset=FALSE

Top Buttons 5.Cluster.F-T Source Ch=

Top Buttons 5.Cluster.T-F Source Ch=

Top Buttons 5.Cluster.Option=none

Top Buttons 5.Cluster.Enumerated List=<0>

Top Buttons 5.Cluster.F Color=11776947

Top Buttons 5.Cluster.T Color=11776947

Top Buttons 5.Cluster.Blink Option=No Blinking

Top Buttons 6.Cluster.Visible=FALSE

Top Buttons 6.Cluster.False Text=

Top Buttons 6.Cluster.True Text=

Top Buttons 6.Cluster.F-T Command=

Top Buttons 6.Cluster.T-F Command=

Top Buttons 6.Cluster.F-T String=

Top Buttons 6.Cluster.T-F String=

Top Buttons 6.Cluster.F-T Value=0

Top Buttons 6.Cluster.T-F Value=0

Top Buttons 6.Cluster.Auto-Reset=FALSE

Top Buttons 6.Cluster.F-T Source Ch=

Top Buttons 6.Cluster.T-F Source Ch=

Top Buttons 6.Cluster.Option=none

Top Buttons 6.Cluster.Enumerated List=<0>

Top Buttons 6.Cluster.F Color=11776947

Top Buttons 6.Cluster.T Color=11776947

Top Buttons 6.Cluster.Blink Option=No Blinking

Top Buttons 7.Cluster.Visible=FALSE

Top Buttons 7.Cluster.False Text=

Top Buttons 7.Cluster.True Text=

Top Buttons 7.Cluster.F-T Command=

Top Buttons 7.Cluster.T-F Command=

Top Buttons 7.Cluster.F-T String=

Top Buttons 7.Cluster.T-F String=

Top Buttons 7.Cluster.F-T Value=0

Top Buttons 7.Cluster.T-F Value=0

Top Buttons 7.Cluster.Auto-Reset=FALSE

Top Buttons 7.Cluster.F-T Source Ch=

Top Buttons 7.Cluster.T-F Source Ch=

Top Buttons 7.Cluster.Option=none

Top Buttons 7.Cluster.Enumerated List=<0>

Top Buttons 7.Cluster.F Color=11776947

Top Buttons 7.Cluster.T Color=11776947

Top Buttons 7.Cluster.Blink Option=No Blinking

Displays=<1>

Displays 0=Document Display.vit

Display Prefixes=<1>

Display Prefixes 0=

Tab Names=<1>

Tab Names 0=Document Display

Update Time (ms)=500

Acquire on Start-up=TRUE

Record on Start-up=TRUE

Instruments=<0>

Instrument Prefixes=<0>

Instrument Tabs=<0>

Display?=<0>

Disp Outside?=<1>

Disp Outside? 0=FALSE

Instr Outside?=<0>

Notes=This configuration file is intended as a demo for the Student Edition of MICAS-X. It implements a virtual experiment in which an excitation potential can be ramped from 0 to 100V, while measuring a resulting input stimulous.

Max History Depth=36000

Two Files?=TRUE

Require CRC?=TRUE

Include Date?=FALSE

Target=WIndows

Save as Auto-Load?=FALSE

Enable RT Watchdog=FALSE

[Config TimeStamp]

TimeStamp=20170521101904

[CRC]

CRC=2152842462

Check=TRUE

[Ltd Parameters]

Drivers=<15>

Drivers 0=NIDaqAD.vit

Drivers 1=NIDaqDA.vit

Drivers 2=NIDaqDI.vit

Drivers 3=NIDaqDO.vit

Drivers 4=Manual.vi

Drivers 5=Array.vit

Drivers 6=Calculations.vit

Drivers 7=Document.vit

Drivers 8=Equations.vit

Drivers 9=Sequences.vi

Drivers 10=Timers.vi

Drivers 11=Triggers.vi

Drivers 12=SE Driver1.vit

Drivers 13=SE Driver2.vit

Drivers 14=SE Driver3.vit

Notes=

Ltd Name=SE

Instruments=<1>

Instruments 0=SE Instrument.vit

Displays=<5>

Displays 0=3Graphs.vit

Displays 1=Big Display.vit

Displays 2=Document Display.vit

Displays 3=Sequences Display.vi

Displays 4=SE Display.vit

Utilities=<6>

Utilities 0=Configuration Editor.vi

Utilities 1=Data Reader.vi

Utilities 2=Log Reader.vi

Utilities 3=mdoc Editor.vi

Utilities 4=mDoc Reader.vi

Utilities 5=TDMS File Reader.vi

[Triggers Parameters]

Triggers=<4>

Triggers 0.Trigger.Trigger Name=Error

Triggers 0.Trigger.Log=FALSE

Triggers 0.Trigger.Condition Channel=Error

Triggers 0.Trigger.Condition=<>

Triggers 0.Trigger.Thresh.=0

Triggers 0.Trigger.Alarm=TRUE

Triggers 0.Trigger.FT Command=

Triggers 0.Trigger.FT Target=

Triggers 0.Trigger.FT Value=0

Triggers 0.Trigger.TF Command=

Triggers 0.Trigger.TF Target=

Triggers 0.Trigger.TF Value=0

Triggers 0.Trigger.Hysteresis=0

Triggers 0.Trigger.Min Time=0

Triggers 0.Trigger.F-T Source Ch=

Triggers 0.Trigger.T-F Source Ch=

Triggers 1.Trigger.Trigger Name=Over Temp

Triggers 1.Trigger.Log=FALSE

Triggers 1.Trigger.Condition Channel=Temp1

Triggers 1.Trigger.Condition=>

Triggers 1.Trigger.Thresh.=25.5

Triggers 1.Trigger.Alarm=FALSE

Triggers 1.Trigger.FT Command=StartSeq

Triggers 1.Trigger.FT Target=Red On

Triggers 1.Trigger.FT Value=0

Triggers 1.Trigger.TF Command=StartSeq

Triggers 1.Trigger.TF Target=Green On

Triggers 1.Trigger.TF Value=0

Triggers 1.Trigger.Hysteresis=0

Triggers 1.Trigger.Min Time=0

Triggers 1.Trigger.F-T Source Ch=

Triggers 1.Trigger.T-F Source Ch=

Triggers 2.Trigger.Trigger Name=SetPoint Too High

Triggers 2.Trigger.Log=FALSE

Triggers 2.Trigger.Condition Channel=V(out)

Triggers 2.Trigger.Condition=>

Triggers 2.Trigger.Thresh.=5

Triggers 2.Trigger.Alarm=FALSE

Triggers 2.Trigger.FT Command=Set

Triggers 2.Trigger.FT Target=V(out)

Triggers 2.Trigger.FT Value=5

Triggers 2.Trigger.TF Command=

Triggers 2.Trigger.TF Target=

Triggers 2.Trigger.TF Value=0

Triggers 2.Trigger.Hysteresis=0

Triggers 2.Trigger.Min Time=0

Triggers 2.Trigger.F-T Source Ch=

Triggers 2.Trigger.T-F Source Ch=

Triggers 3.Trigger.Trigger Name=Set Point Too Low

Triggers 3.Trigger.Log=FALSE

Triggers 3.Trigger.Condition Channel=V(out)

Triggers 3.Trigger.Condition=<

Triggers 3.Trigger.Thresh.=0

Triggers 3.Trigger.Alarm=FALSE

Triggers 3.Trigger.FT Command=Set

Triggers 3.Trigger.FT Target=V(out)

Triggers 3.Trigger.FT Value=0

Triggers 3.Trigger.TF Command=

Triggers 3.Trigger.TF Target=

Triggers 3.Trigger.TF Value=0

Triggers 3.Trigger.Hysteresis=0

Triggers 3.Trigger.Min Time=0

Triggers 3.Trigger.F-T Source Ch=

Triggers 3.Trigger.T-F Source Ch=

Cycle Time (ms)=1000

Notes=

Include Time?=FALSE

Include State?=FALSE

Disabled on Startup?=FALSE

[Acquisition Parameters]

Drivers=<5>

Drivers 0=NIDaqAD

Drivers 1=NIDaqDA

Drivers 2=NIDaqDO

Drivers 3=Equations

Drivers 4=Triggers

Driver Prefixes=<5>

Driver Prefixes 0=

Driver Prefixes 1=

Driver Prefixes 2=

Driver Prefixes 3=

Driver Prefixes 4=

Globals=<20>

Globals 0=

Globals 1=

Globals 2=

Globals 3=

Globals 4=

Globals 5=

Globals 6=

Globals 7=

Globals 8=

Globals 9=

Globals 10=

Globals 11=

Globals 12=

Globals 13=

Globals 14=

Globals 15=

Globals 16=

Globals 17=

Globals 18=

Globals 19=

Initial Values=<20>0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0

Acq Loop=<5>0,0,0,0,0

Cycle Times (ms)=<1>1000

Notes=

Device Timed=<0>

Acq Notes=The Manual Driver is used to create virtual channels unassociated with any hardware, which can be set to new values by the user, by other Drivers, or other programmatic mechanisms. In this example, it is used to create the simulated analog output channel.line*~
|.
feedThe Calculations Driver is used to include an averaging calculation. This average is used as part of the simulated feedback fo the response of the system.line*~
|.
feedThe Equations Driver allows user defined equations based on the values of other channels, which can update existing channels or create new channels. In this example, it is used to to simulate the analog input channel based on the averaged value of the analog output channel.

Latch Error=<20>0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0

[Manual  Parameters]

Manual Controllers=<6>

Manual Controllers 0=Ramp Step Size (V)

Manual Controllers 1=Ramp End Value (V)

Manual Controllers 2=Ramp Value (V)

Manual Controllers 3=HV Interlock

Manual Controllers 4=Bias Current (ma)

Manual Controllers 5=Shield Voltage (V)

Initial Value=<6>8,100,0,0,0.01,25

Notes=These Manual channels are used both to simulate the analog output channel (Ramp Value (V)) as well as to control the ramp by defining the step size and end value.

Include Time?=FALSE

Include State?=FALSE

Disabled on Startup?=FALSE

Initial Mode=TRUE

[Equations  Parameters]

Equations=<2>

Equations 0.Cluster.Name=Current (A)

Equations 0.Cluster.Equation=V(out) / R0

Equations 0.Cluster.Target=FALSE

Equations 1.Cluster.Name=Power (W)

Equations 1.Cluster.Equation=V(out) * Current (A)

Equations 1.Cluster.Target=FALSE

Notes=This Driver is used to create the simulated measured response of the system based on the ramp output channel, with a bit of random noise added.

Include Time?=FALSE

Include State?=FALSE

Disabled on Startup?=FALSE

[Calculations  Parameters]

Calculations=<1>

Calculations 0.Calculation.Name=Channel Averager.vit

Calculations 0.Calculation.Description=This calculation takes one input channel and averages it over N samples, creating one output channel.  N is acquired from the "Global 0", or first Global Variable. If the input is "NaN", it is not included in the averaged data.

Calculations 0.Calculation.Input Channels=<1>

Calculations 0.Calculation.Input Channels 0=Ramp Value (V)

Calculations 0.Calculation.Output Channels=<1>

Calculations 0.Calculation.Output Channels 0=Averaged Ramp Value

Notes=This Drirver is used to calculate an averaged value of the Ramp output channel, which is then used by the Equations Drive to simulate the input.

Include Time?=FALSE

Include State?=FALSE

Disabled on Startup?=FALSE

[Sequencer  Parameters]

Sequences=<3>

Sequences 0.Sequence.Sequence Name=Initialize

Sequences 0.Sequence.Log=FALSE

Sequences 0.Sequence.Exit Step?=FALSE

Sequences 0.Sequence.Sequence Steps=<2>

Sequences 0.Sequence.Sequence Steps 0.Sequence Display.Label=Set Tab

Sequences 0.Sequence.Sequence Steps 0.Sequence Display.Command=Tab

Sequences 0.Sequence.Sequence Steps 0.Sequence Display.Condition=True

Sequences 0.Sequence.Sequence Steps 0.Sequence Display.Condition Channel=

Sequences 0.Sequence.Sequence Steps 0.Sequence Display.Thresh.=0

Sequences 0.Sequence.Sequence Steps 0.Sequence Display.Target=

Sequences 0.Sequence.Sequence Steps 0.Sequence Display.Value=1

Sequences 0.Sequence.Sequence Steps 1.Sequence Display.Label=Stop Seq

Sequences 0.Sequence.Sequence Steps 1.Sequence Display.Command=StopSeq

Sequences 0.Sequence.Sequence Steps 1.Sequence Display.Condition=True

Sequences 0.Sequence.Sequence Steps 1.Sequence Display.Condition Channel=

Sequences 0.Sequence.Sequence Steps 1.Sequence Display.Thresh.=0

Sequences 0.Sequence.Sequence Steps 1.Sequence Display.Target=Initialize

Sequences 0.Sequence.Sequence Steps 1.Sequence Display.Value=0

Sequences 0.Sequence.Off Label=

Sequences 0.Sequence.On Label=

Sequences 0.Sequence.Exit Step.Label=

Sequences 0.Sequence.Exit Step.Command=

Sequences 0.Sequence.Exit Step.Condition=True

Sequences 0.Sequence.Exit Step.Condition Channel=

Sequences 0.Sequence.Exit Step.Thresh.=0

Sequences 0.Sequence.Exit Step.Target=

Sequences 0.Sequence.Exit Step.Value=0

Sequences 0.Sequence.Notes=

Sequences 1.Sequence.Sequence Name=Green On

Sequences 1.Sequence.Log=FALSE

Sequences 1.Sequence.Exit Step?=FALSE

Sequences 1.Sequence.Sequence Steps=<3>

Sequences 1.Sequence.Sequence Steps 0.Sequence Display.Label=Turn on Green

Sequences 1.Sequence.Sequence Steps 0.Sequence Display.Command=Set

Sequences 1.Sequence.Sequence Steps 0.Sequence Display.Condition=True

Sequences 1.Sequence.Sequence Steps 0.Sequence Display.Condition Channel=

Sequences 1.Sequence.Sequence Steps 0.Sequence Display.Thresh.=0

Sequences 1.Sequence.Sequence Steps 0.Sequence Display.Target=Green LED

Sequences 1.Sequence.Sequence Steps 0.Sequence Display.Value=1

Sequences 1.Sequence.Sequence Steps 1.Sequence Display.Label=Turn Red Off

Sequences 1.Sequence.Sequence Steps 1.Sequence Display.Command=Set

Sequences 1.Sequence.Sequence Steps 1.Sequence Display.Condition=True

Sequences 1.Sequence.Sequence Steps 1.Sequence Display.Condition Channel=

Sequences 1.Sequence.Sequence Steps 1.Sequence Display.Thresh.=0

Sequences 1.Sequence.Sequence Steps 1.Sequence Display.Target=Red LED

Sequences 1.Sequence.Sequence Steps 1.Sequence Display.Value=0

Sequences 1.Sequence.Sequence Steps 2.Sequence Display.Label=Stop Seq

Sequences 1.Sequence.Sequence Steps 2.Sequence Display.Command=StopSeq

Sequences 1.Sequence.Sequence Steps 2.Sequence Display.Condition=True

Sequences 1.Sequence.Sequence Steps 2.Sequence Display.Condition Channel=

Sequences 1.Sequence.Sequence Steps 2.Sequence Display.Thresh.=0

Sequences 1.Sequence.Sequence Steps 2.Sequence Display.Target=Green On

Sequences 1.Sequence.Sequence Steps 2.Sequence Display.Value=0

Sequences 1.Sequence.Off Label=

Sequences 1.Sequence.On Label=

Sequences 1.Sequence.Exit Step.Label=

Sequences 1.Sequence.Exit Step.Command=

Sequences 1.Sequence.Exit Step.Condition=True

Sequences 1.Sequence.Exit Step.Condition Channel=

Sequences 1.Sequence.Exit Step.Thresh.=0

Sequences 1.Sequence.Exit Step.Target=

Sequences 1.Sequence.Exit Step.Value=0

Sequences 1.Sequence.Notes=

Sequences 2.Sequence.Sequence Name=Red On

Sequences 2.Sequence.Log=FALSE

Sequences 2.Sequence.Exit Step?=FALSE

Sequences 2.Sequence.Sequence Steps=<3>

Sequences 2.Sequence.Sequence Steps 0.Sequence Display.Label=Turn On Red

Sequences 2.Sequence.Sequence Steps 0.Sequence Display.Command=Set

Sequences 2.Sequence.Sequence Steps 0.Sequence Display.Condition=True

Sequences 2.Sequence.Sequence Steps 0.Sequence Display.Condition Channel=

Sequences 2.Sequence.Sequence Steps 0.Sequence Display.Thresh.=0

Sequences 2.Sequence.Sequence Steps 0.Sequence Display.Target=Red LED

Sequences 2.Sequence.Sequence Steps 0.Sequence Display.Value=1

Sequences 2.Sequence.Sequence Steps 1.Sequence Display.Label=Turn Green Off

Sequences 2.Sequence.Sequence Steps 1.Sequence Display.Command=Set

Sequences 2.Sequence.Sequence Steps 1.Sequence Display.Condition=True

Sequences 2.Sequence.Sequence Steps 1.Sequence Display.Condition Channel=

Sequences 2.Sequence.Sequence Steps 1.Sequence Display.Thresh.=0

Sequences 2.Sequence.Sequence Steps 1.Sequence Display.Target=Green LED

Sequences 2.Sequence.Sequence Steps 1.Sequence Display.Value=0

Sequences 2.Sequence.Sequence Steps 2.Sequence Display.Label=Stop Seq

Sequences 2.Sequence.Sequence Steps 2.Sequence Display.Command=StopSeq

Sequences 2.Sequence.Sequence Steps 2.Sequence Display.Condition=True

Sequences 2.Sequence.Sequence Steps 2.Sequence Display.Condition Channel=

Sequences 2.Sequence.Sequence Steps 2.Sequence Display.Thresh.=0

Sequences 2.Sequence.Sequence Steps 2.Sequence Display.Target=Red On

Sequences 2.Sequence.Sequence Steps 2.Sequence Display.Value=0

Sequences 2.Sequence.Off Label=

Sequences 2.Sequence.On Label=

Sequences 2.Sequence.Exit Step.Label=

Sequences 2.Sequence.Exit Step.Command=

Sequences 2.Sequence.Exit Step.Condition=True

Sequences 2.Sequence.Exit Step.Condition Channel=

Sequences 2.Sequence.Exit Step.Thresh.=0

Sequences 2.Sequence.Exit Step.Target=

Sequences 2.Sequence.Exit Step.Value=0

Sequences 2.Sequence.Notes=

Startup Sequence=Initialize

Shutdown Sequence=--

Min Time=10

Include Time?=FALSE

Include State?=FALSE

Disabled on Startup?=FALSE

[Control Tab Parameters]

Controllers=<2>

Controllers 0=V(out)

Controllers 1=TrigThr Over Temp

Switches=<2>

Switches 0.Cluster.Controller=Green LED

Switches 0.Cluster.Off Value=0

Switches 0.Cluster.On Value=1

Switches 1.Cluster.Controller=Red LED

Switches 1.Cluster.Off Value=0

Switches 1.Cluster.On Value=1

Sequences=<0>

Control Tab  Name=

Show Graph=TRUE

List=Important Channels

Left Channel=V(out)

Right Channel=Temp1

AS Left=TRUE

AS Right=TRUE

Triggers=<1>

Triggers 0=Error

Channels List=

Notes=

Graph Background=0

History Length=300

Left Points=FALSE

Right Points=FALSE

1 of Every N Pts=1

[Document  Parameters]

Notes=

Include Time?=FALSE

Documents=<1>

Documents 0=SE Daq Demo Instructions.mdoc

Initial Document=0

Initial Section=3

Include State?=FALSE

Disabled on Startup?=FALSE

[Channel Lists Parameters]

Lists=<1>

Lists 0.Cluster.List Name=Important Channels

Lists 0.Cluster.Channels=<7>

Lists 0.Cluster.Channels 0=Sec Since Midnight

Lists 0.Cluster.Channels 1=Temp1

Lists 0.Cluster.Channels 2=V(out)

Lists 0.Cluster.Channels 3=Current (A)

Lists 0.Cluster.Channels 4=Power (W)

Lists 0.Cluster.Channels 5=Green LED

Lists 0.Cluster.Channels 6=Red LED

Notes=

[File Writer Parameters]

Files=<1>

Files 0.File.Prefix=

Files 0.File.Suffix=

Files 0.File.Extension=

Files 0.File.Delimiter=Comma

Files 0.File.Format=

Files 0.File.Channel List=Important Channels

Files 0.File.New File=Never

Files 0.File.Acq Loop=0

Files 0.File.Custom Path=

Files 0.File.File Type=Delimited Text

Files 0.File.Waves Flags=/D

Files 0.File.Igor Commands=

Files 0.File.Write Frequency=1

Files 0.File.New File Every Record Start?=FALSE

Notes=

[NIDaqAD  Parameters]

Device=Dev1

Channels=<1>

Channels 0.Channel.Name=Temp1

Channels 0.Channel.Scaling=<0>

Channels 0.Channel.Channel=0

Channels 0.Channel.Range=-10.0 to 10.0 V

Channels 0.Channel.Type=Lookup Table 1

SE/Diff=FALSE

Lookup Table 1=<34>

Lookup Table 1 0.Cluster.Raw Value=0.145233157

Lookup Table 1 0.Cluster.Scaled Value=-40

Lookup Table 1 1.Cluster.Raw Value=0.198947172

Lookup Table 1 1.Cluster.Scaled Value=-35

Lookup Table 1 2.Cluster.Raw Value=0.268625123

Lookup Table 1 2.Cluster.Scaled Value=-30

Lookup Table 1 3.Cluster.Raw Value=0.357398142

Lookup Table 1 3.Cluster.Scaled Value=-25

Lookup Table 1 4.Cluster.Raw Value=0.468335816

Lookup Table 1 4.Cluster.Scaled Value=-20

Lookup Table 1 5.Cluster.Raw Value=0.604120099

Lookup Table 1 5.Cluster.Scaled Value=-15

Lookup Table 1 6.Cluster.Raw Value=0.766659511

Lookup Table 1 6.Cluster.Scaled Value=-10

Lookup Table 1 7.Cluster.Raw Value=0.95660825

Lookup Table 1 7.Cluster.Scaled Value=-5

Lookup Table 1 8.Cluster.Raw Value=1.173048048

Lookup Table 1 8.Cluster.Scaled Value=0

Lookup Table 1 9.Cluster.Raw Value=1.413187869

Lookup Table 1 9.Cluster.Scaled Value=5

Lookup Table 1 10.Cluster.Raw Value=1.672408603

Lookup Table 1 10.Cluster.Scaled Value=10

Lookup Table 1 11.Cluster.Raw Value=1.944692933

Lookup Table 1 11.Cluster.Scaled Value=15

Lookup Table 1 12.Cluster.Raw Value=2.222913795

Lookup Table 1 12.Cluster.Scaled Value=20

Lookup Table 1 13.Cluster.Raw Value=2.5

Lookup Table 1 13.Cluster.Scaled Value=25

Lookup Table 1 14.Cluster.Raw Value=2.769162605

Lookup Table 1 14.Cluster.Scaled Value=30

Lookup Table 1 15.Cluster.Raw Value=3.024858285

Lookup Table 1 15.Cluster.Scaled Value=35

Lookup Table 1 16.Cluster.Raw Value=3.262876944

Lookup Table 1 16.Cluster.Scaled Value=40

Lookup Table 1 17.Cluster.Raw Value=3.480609524

Lookup Table 1 17.Cluster.Scaled Value=45

Lookup Table 1 18.Cluster.Raw Value=3.676822049

Lookup Table 1 18.Cluster.Scaled Value=50

Lookup Table 1 19.Cluster.Raw Value=3.851397672

Lookup Table 1 19.Cluster.Scaled Value=55

Lookup Table 1 20.Cluster.Raw Value=4.005190727

Lookup Table 1 20.Cluster.Scaled Value=60

Lookup Table 1 21.Cluster.Raw Value=4.139518326

Lookup Table 1 21.Cluster.Scaled Value=65

Lookup Table 1 22.Cluster.Raw Value=4.256152268

Lookup Table 1 22.Cluster.Scaled Value=70

Lookup Table 1 23.Cluster.Raw Value=4.356956753

Lookup Table 1 23.Cluster.Scaled Value=75

Lookup Table 1 24.Cluster.Raw Value=4.443733447

Lookup Table 1 24.Cluster.Scaled Value=80

Lookup Table 1 25.Cluster.Raw Value=4.518303648

Lookup Table 1 25.Cluster.Scaled Value=85

Lookup Table 1 26.Cluster.Raw Value=4.582283609

Lookup Table 1 26.Cluster.Scaled Value=90

Lookup Table 1 27.Cluster.Raw Value=4.637160722

Lookup Table 1 27.Cluster.Scaled Value=95

Lookup Table 1 28.Cluster.Raw Value=4.684231285

Lookup Table 1 28.Cluster.Scaled Value=100

Lookup Table 1 29.Cluster.Raw Value=4.724629684

Lookup Table 1 29.Cluster.Scaled Value=105

Lookup Table 1 30.Cluster.Raw Value=4.759330191

Lookup Table 1 30.Cluster.Scaled Value=110

Lookup Table 1 31.Cluster.Raw Value=4.789184871

Lookup Table 1 31.Cluster.Scaled Value=115

Lookup Table 1 32.Cluster.Raw Value=4.814910043

Lookup Table 1 32.Cluster.Scaled Value=120

Lookup Table 1 33.Cluster.Raw Value=4.83711031

Lookup Table 1 33.Cluster.Scaled Value=125

Lookup Table 2=<0>

Lookup Table 3=<0>

TC Mode=0

Notes=

Acq Mode=Single Point

# of Samples to Avg=0

Acq Rate (Hz)=0

Include Time?=FALSE

Include State?=FALSE

Disabled on Startup?=FALSE

[NIDaqDA  Parameters]

Device=Dev1

Channels=<1>

Channels 0.Channel.Name=V(out)

Channels 0.Channel.Channel=0

Channels 0.Channel.Range=0 to 5 V

Channels 0.Channel.Slope=1

Channels 0.Channel.Offset=0

Channels 0.Channel.Initial SetPoint=0

Notes=

Include Time?=FALSE

Initial Mode=TRUE

Include State?=FALSE

Disabled on Startup?=FALSE

[NIDaqDO  Parameters]

Device=Dev1

Channels=<2>

Channels 0.Digital Out.Name=Green LED

Channels 0.Digital Out.Channel=0

Channels 0.Digital Out.Port=0

Channels 0.Digital Out.Initial Value=TRUE

Channels 0.Digital Out.Invert=FALSE

Channels 1.Digital Out.Name=Red LED

Channels 1.Digital Out.Channel=1

Channels 1.Digital Out.Port=0

Channels 1.Digital Out.Initial Value=FALSE

Channels 1.Digital Out.Invert=FALSE

Notes=

Include Time?=FALSE

Initial Mode=TRUE

Include State?=FALSE

Disabled on Startup?=FALSE

[Constants Parameters]

Constants=<1>

Constants 0=R0

Values=<1>1000

Notes=

